Contract

This public works contract ("Contract") is entered into by and between the City of Cupertino ("City"), a municipal corporation, and O'Grady Paving, Inc. ("Contractor"), for work on the **2020 Pavement Maintenance Phase 2** ("Project").

The parties agree as follows:

- 1. Award of Contract. In response to the Notice Inviting Bids, Contractor has submitted a Bid Proposal and accompanying Bid Schedule, a copy of which is attached for convenience as Exhibit A, to perform the Work to construct the Project. On July 21, 2020, City authorized award of this Contract to Contractor for the amount set forth in Section 4 below.
- 2. Contract Documents. The Contract Documents incorporated into this Contract include and are comprised of all of the documents listed below. The definitions provided in Article 1 of the General Conditions apply to all of the Contract Documents, including this Contract:
 - **2.1** Notice Inviting Bids;
 - **2.2** Instructions to Bidders;
 - **2.3** Addenda, if any;
 - 2.4 Bid Proposal and attachments thereto;
 - 2.5 Contract:
 - **2.6** Payment Bond, and Performance Bond:
 - **2.7** General Conditions;
 - 2.8 Special Conditions;
 - **2.9** Project Plans and Specifications;
 - **2.10** Change Orders, if any;
 - **2.11** Notice of Award;
 - **2.12** Notice to Proceed:
 - **2.13** City of Cupertino Standard Details; and
 - 2.14 The following: Caltrans Standard Details, Appendix A Federal Contract Requirements, Appendix B Federal Disclosure Forms, Appendix C DBE Commitment Forms, Appendix D Davis-Beacon Wage Rate Determination)
- 3. Contractor's Obligations. Contractor will perform all of the Work required for the Project, as specified in the Contract Documents. Contractor must provide, furnish, and supply all things necessary and incidental for the timely performance and completion of the Work, including all necessary labor, materials, supplies, tools, equipment, transportation, onsite facilities and utilities, unless otherwise specified in the Contract Documents. Contractor must use its best efforts to diligently prosecute and complete the Work in a professional and expeditious manner and to meet or exceed the performance standards required by the Contract Documents.
- 4. Payment. As full and complete compensation for Contractor's timely performance and completion of the Work in strict accordance with the terms and conditions of the Contract Documents, City will pay Contractor \$1,694.263.40 ("Contract Price") for all of Contractor's direct and indirect costs to perform the Work, including all labor, materials, supplies, equipment, taxes, insurance, bonds and all overhead costs, in accordance with the payment provisions in the General Conditions.
- **Time for Completion.** Contractor will fully complete the Work for the Project within 40 working days from the commencement date given in the Notice to Proceed ("Contract Time"). By signing below, Contractor expressly waives any claim for delayed early completion.

- **6. Liquidated Damages.** If Contractor fails to complete the Work within the Contract Time, City will assess liquidated damages in the amount of \$1,500 per day for each day of unexcused delay in completion, and such liquidated damages may be deducted from City's payments due or to become due to Contractor under this Contract.
- 7. Labor Code Compliance.
 - **7.1 General.** This Contract is subject to all applicable requirements of Chapter 1 of Part 7 of Division 2 of the Labor Code, including requirements pertaining to wages, working hours and workers' compensation insurance, as further specified in Article 9 of the General Conditions.
 - **7.2 Prevailing Wages.** This Project is subject to the prevailing wage requirements applicable to the locality in which the Work is to be performed for each craft, classification or type of worker needed to perform the Work, including employer payments for health and welfare, pension, vacation, apprenticeship and similar purposes. Copies of these prevailing rates are available online at http://www.dir.ca.gov/DLSR.
 - **7.3 DIR Registration.** City may not enter into the Contract with a bidder without proof that the bidder and its Subcontractors are registered with the California Department of Industrial Relations to perform public work pursuant to Labor Code section 1725.5, subject to limited legal exceptions.
- 8. Workers' Compensation Certification. Pursuant to Labor Code section 1861, by signing this Contract, Contractor certifies as follows: "I am aware of the provisions of Labor Code section 3700 which require every employer to be insured against liability for workers' compensation or to undertake self-insurance in accordance with the provisions of that code, and I will comply with such provisions before commencing the performance of the Work on this Contract."
- 9. Conflicts of Interest. Contractor, its employees, Subcontractors and agents, may not have, maintain or acquire a conflict of interest in relation to this Contract in violation of any City ordinance or requirement or in violation of any California law, including Government Code section 1090 et seq., or the Political Reform Act, as set forth in Government Code section 81000 et seq. and its accompanying regulations. No officer, official, employee, consultant, or other agent of the City ("City Representative") may have, maintain, or acquire a "financial interest" in the Contract, as that term is defined under the Political Reform Act (Government Code section 81000, et seq., and regulations promulgated thereunder); or under Government Code section 1090, et seq.; or in violation of any City ordinance or requirement while serving as a City Representative or for one year thereafter. Any violation of this Section constitutes a material breach of the Contract.
- 10. Independent Contractor. Contractor is an independent contractor under this Contract and will have control of the Work and the means and methods by which it is performed. Contractor and its Subcontractors are not employees of City and are not entitled to participate in any health, retirement, or any other employee benefits from City.

11. Notice. Any notice, billing, or payment required by or pursuant to the Contract Documents must be made in writing, signed, dated and sent to the other party by personal delivery, U.S. Mail, a reliable overnight delivery service, or by email as a PDF file. Notice is deemed effective upon delivery, except that service by U.S. Mail is deemed effective on the second working day after deposit for delivery.. Notice for each party must be given as follows:

City:

Name: City of Cupertino Address: 10300 Torre Avenue City/State/Zip: Cupertino, CA 95014

Phone: 408-777-3245

Attn: Director of Public Works Email: joannej@cupertino.org Copy to: pwinvoices@cupertino.org

Contractor:

Name:	
Address:	
City/State/Zip:	
Phone:	
Attn:	
Email:	
Copy to:	

12. General Provisions.

- **12.1 Assignment and Successors.** Contractor may not assign its rights or obligations under this Contract, in part or in whole, without City's written consent. This Contract is binding on Contractor's and City's lawful heirs, successors and permitted assigns.
- **12.2 Third Party Beneficiaries.** There are no intended third party beneficiaries to this Contract.
- 12.3 Governing Law and Venue. This Contract will be governed by California law and venue will be in the Santa Clara County Superior Court, and no other place. Contractor waives any right it may have pursuant to Code of Civil Procedures Section 394, to file a motion to transfer any action arising from or relating to this Contract to a venue outside Santa Clara County, California.
- **12.4 Amendment.** No amendment or modification of this Contract will be binding unless it is in a writing duly authorized and signed by the parties to this Contract.
- **12.5 Integration.** This Contract and the Contract Documents incorporated herein, including authorized amendments or Change Orders thereto, constitute the final, complete, and exclusive terms of the agreement between City and Contractor.
- **Severability.** If any provision of the Contract Documents, or portion of a provision, is determined to be illegal, invalid, or unenforceable, the remaining provisions of the Contract Documents will remain in full force and effect.

- 12.7 Iran Contracting Act. If the Contract Price exceeds \$1,000,000, Contractor certifies, by signing below, that it is not identified on a list created under the Iran Contracting Act, Public Contract Code § 2200 et seq. (the "Act"), as a person engaging in investment activities in Iran, as defined in the Act, or is otherwise expressly exempt under the Act.
- **12.8 Authorization.** Each individual signing below warrants that he or she is authorized to do so by the party that he or she represents, and that this Contract is legally binding on that party. If Contractor is a corporation, signatures from two officers of the corporation are required pursuant to California Corporation Code section 313.

[Signatures are on the following page.]

The parties agree to this Contract as witnessed by the signatures below:

CONTRACTOR

CITY OF CUPERTINO A Municipal Corporation
By
APPROVED AS TO FORM:
By Name City Attorney Date
Kirsten Squarcia City Clerk Date
Contract Amount: \$1,694,263.40 P.O. No Account No

END OF CONTRACT

Bidder's Name: O'Grady Paving, Inc.

Bid Schedule

This Bid Schedule must be completed in ink and included with the sealed Bid Proposal. Pricing must be provided for each Bid Item as indicated. Items marked "(SW)" are Specialty Work that must be performed by a qualified Subcontractor. The lump sum or unit cost for each item must be inclusive of all costs, whether direct or indirect, including profit and overhead. The sum of all amounts entered in the "Extended Total Amount" column must be identical to the Base Bid price entered in Section 1 of the Bid Proposal Form.

LS = Lump Sum

EA = Each

LF = Linear Foot

CF = Cubic Feet

CY = Cubic Yard

SY=Square Yard

SF = Square Feet

LB = Pounds

TON = Ton (2000 lbs) AL = Allowance

BID ITEM NO.	ITEM DESCRIPTION	UNIT	EST. QTY	UNIT COST	EXTENDED TOTAL AMOUNT
1	Traffic Control	LS	1	\$185,000	\$ 185,000
2	Cold Plane and Remove 3" AC	SY	38,708	\$ 575	\$ 222,571
3	RHMA-G ½ inch max	TON	5,100	\$ 140	\$ 714,000
4	Rubberized Chip Seal	SY	10,850	\$ 12	\$ 130,200
5	Micro-surfacing	SY	11,200	\$ 700	\$ 78,406
6	Parking Seal	SY	340	\$ 20-	\$ 6800
7	Lower Communication MH cover	EA	6	\$ 500	\$ 3000 -
8	Raise Communication MH cover	EA	6	\$ //00 -	\$ 6600-
9	Lower Sanitary Manhole Cover	EA	43	\$ 350-	\$ 15,050
10	Raise Sanitary Manhole Cover	EA	43	\$ 800-	\$ 34,400
11	Lower Storm Manhole Cover	EA	28	\$ 350 -	\$ 9800-
12	Raise Storm Manhole Cover	EA	28	\$ 800	\$ 22,400-
13	Lower Gas Valve Cover	EA	1	\$ 300	\$ 300 -
14	Raise Gas Valve Cover	EA	1	\$ 606	\$ 600-
15	Lower Water Valve	EA	23	\$ 300	\$ 6900 -
16	Raise Water Valve	EA	23	\$ 600	\$ 13,800-
17	Monument Preservation	EA	88	\$ 800	\$ 6400-
18	Lower Monument Cover	EA	8	\$ 350-	\$ 2800-
19	Raise Monument Cover to grade	EA	8	\$ 800-	\$ 6400 -
20	Install Blue RPMs @ Fire Hydrant	EA	8	\$ 30-	\$ 240-
21	12" White Crosswalk/Limit Line (Thermo)	LF	1,686	\$ 440	\$ 7418 40
22	12" Yellow (Thermo)	LF	600	\$ 400	\$ 2400-
23	24" White (Thermo)	LF	1,050	\$ 9-	\$ 9450 -
24	24" Yellow (Thermo)	LF	830	\$ 9-	\$ 7470-
25	Striping Detail 9 (Mod Type C Markers)	LF	9,180	\$ 100	\$ 9180

BID ITEM NO.	ITEM DESCRIPTION	UNIT	EST. QTY	UNIT COST	EXTENDED TOTAL AMOUNT
26	Detail 12 (Mod Type C Markers)	LF	420	\$ 100	\$ 420-
27	Striping Detail 22 (Thermo & Markers	LF	4,050	\$ 200	\$ 8100-
28	Striping Detail 24	LF	90	\$ /00	\$ 90
29	Striping Detail 25	LF	220	\$ 100	\$ 220
30	Striping Detail 27B	LF	5,890	\$ 090	\$ 5301
31	Striping Detail 29	LF	1,525	\$ 2-	\$ 3050
32	Striping Detail 32	LF	1,025	\$ 2-	\$ 2050
33	Stiping Detail 38	LF	3,255	\$ 150	\$ 4882 5
34	Striping Detail 39	LF	10,705	\$ 100	\$ 10.705
35	Striping Detail 39A	LF	2,845	\$ 690	\$ 2560 50
36	Striping Detail 40	LF	135	\$ /00	\$ 135-
37	"Keep" Legend (Preformed Thermo)	EA	6	\$ 500-	\$ 3000 -
38	"Clear" Legend (Preformed Thermo)	EA	6	\$ 520-	\$ 3120-
39	"Ped" Legend (Preformed Thermo)	EA	4	\$ 300 -	\$ 1200-
40	"Xing" Legend (Preformed Thermo)	EΑ	4	\$ 400-	\$ 1600 -
41	"30" Legend (Preformed Thermo)	EA	3	\$ 300-	\$ 900 -
42	Yield Line (Preformed Thermo)	EA	9	\$ 70-	\$ 630-
43	Railroad Xing Legend (Preformed Thermo)	EA	2	\$ 1000	\$ 2000 -
44	Bike Rider Symbol (L) w/arrow (Preformed Thermo)	EA	17	\$ 400	\$ 6800-
45	Green Bike Lane (Preformed Thermo)	SF	6,680	\$ 14-	\$ 93 520
46	Bike Rider Symbol (White on Green) (Preformed Thermo)	EA	18	\$ 500	\$ 9000 -
47	Bike Arrow Symbol (White on Green) (Preformed Thermo)	EA	18	\$ 500	\$ 9000-
48	Bike Detector Legend (Preformed			\$ 150.	\$ 1200-
	Thermo) Bike Detector Legend on Green	EA	8	100	0 0
49	(Preformed Thermo)	EA	12	\$ 250	\$ 3000 -
50	Arrow Type I (10') (Preformed Thermo)	EA	1	\$ 280	\$ 280 -
51	Arrow Type IV (Preformed Thermo)	EA	44	\$ 330	\$ 14,520-
52	Arrow Type VI (Preformed Thermo)	EA	3	\$ 800	\$ 2400-
53	Water Pollution Control Plan	LS	1	\$ 3000	\$ 3000 -
	~3	· · · · · ·		# 1001	21040

TOTAL BASE BID: Items 1 through <u>53</u> inclusive: \$ # 1,694, 263 40